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Time allowed: 20 Minutes

MATHEMATICS SSC-lI

(For Hearing Impaired Children)

SECTION — A (Marks 15)

NOTE:- Section;A is compulsory. All parts of this section are to bhe answered on the question paper Itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not ailowed. Do not use lead pencli.

Q.1 Circie the correct optioni.e. A/ B/ C/ D. Each part carrles one mark.

®

(i)

(i)

{iv)
W
(vi)
(vii)
(viii)

(ix)

()
(xi)
(i)
(xiii)
(xiv)

(xv)

For Examiner’s use only:

Which one is an open sentence?

A 3>2 B. x+2=3 C. -3<-8
The diameter contains points of a circle.
A. One B. Two C. Three
Which one is an algebraic expression?
A. 2x+3 B. 2x=1 C. 3y+2=0
Any quantity that has single value is known as:
A. Variable ‘ B. Constant C. Data
H5:8=5: xthen x =7
A 5 B. 25 C. 40
Which one is true sentence?
A. 3+4=9 B. 3+7<-5 C. -4+86=2
Arithmetic mean is denoted by:
A X B. X C. z
Jag=
A 8 B. 6 C. 7
The solution setof 3x+3=6 is:
A {3 B {1} c. {3
Length of the line joining all points of the circle is called:
A Chord B. Diameter C. Radius
What is the mean proportional of 4 and 167
A 5 B. +8 C. +6
The distance of any point of a circle from its centre is called:
A Radius B. Chord C. Diameter
What is the lower limit of the interval 39 — 43 ?
A 39 B. 43 C. 44
What isthe unit of ratio?
A Gram B. Cm C. Second
Eliminating x from equation x=?l- and x=2m we get:

n
A 2mn=1 B. m=3n C. 2m=n

Total Marks:

Marks Obtained:
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D. y<Ty

Four

None of these

3+2<2

-1
Circumference

+7

Arc

38

It has no unit

6mn=1

15
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MATHEMATICS SSC-l|
(For Hearing Impaired Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Sectlon ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet l.e. Sheet-B If required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=136)
(i) Identify equation and in-equation:
a. 3x+2=5 b. 3x+2>10 c. 2y =10 d. 3y+8<ll
e. 2x—10=l f. —l-x—5=—1—
2 2 3
(i) Plot the following points on the graph paper:
a (-3,-5) b. {(-2,3) c. (3,-8)

(iii) Solve by factorization: x> -7x+10=0

(iv) Eliminate x from the following equations by comparison method:
2x+3y=5 , x-y=2

(v) For what value of x the ratio 3+ x:2+4x is equal to theratio 2 : 3.

(vi) Find the arithmetic mean of 6.5, 11, 12.3, 8, 8.1, 16, 18, 20.5, 25

(vii) Find the solution set of standard quadratic equation ax* +bx+c¢ =0 for following values:
a=5,b=8,c=3

(viii)  Plot the graph by taking only two pints y-2x+5=0 while (x,y€R)

(ix) Find the fourth proportional of 7, 21, 3.

{(x) Following are the earning (in Rs) of ten workers. 88, 70, 72, 125, 115, 95, 81, 90, 95, 90. Calculate the
median.

{xi) Ifa: b= 3:4 then find 5a+4b:6a+9b
{xii) Identify the linear equation:
b. x_+1=l c. x+c=0 d. J|:+2=—l
2 5 2
e 5-z>2z f. fx+m=0
(xili)  Find the mean proportional of 16, ¢

(xiv)  Solve by factorization 4x*+2x-6=0

a. x-5<3

{xv) Draw simple bar diagram to represent weekly pocket money of 5 students:
Students Fatima Bilal Sarah Shafigue Saad
Pocket Money in (Rs) 140 175 250 275 350

(xvi)  Find the third proportional of 754*%°,154’%°

(xvii)  The arithmetic mean of 45 numbers is 80. Find their sum.
(xviii) ldentify the open sentences:

a. 3+4<2x b. 3+4x=5 c. 7-3>12 d. 3+5<2x
e 15-8 <12 f, 2y+5=15
SECTION — C {Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3  Construct a triangle when mAB = 5.6cm, mBC = 6cm, msA=90°

Q4. Plotthe graph of the following by taking at least four ordered pairs while (x,y € R):

2x+y=3
Q5. Define the following and illustrate by diagram: (a) circle (b) Diameter of a circle
Q6. Fora school staff the following expenditure (in rupees) is required for the repair of the chair:

145, 152, 153, 156, 158, 160, 146, 152, 155, 159, 161, 163, 164, 147, 148, 151, 154, 156, 158, 160, 144, 147,
151, 150, 152, 149, 145, 153, 152, 155

Prepare a frequency distribution by tally bar method using 3 as a size of the class interval and also write down the
frequencies of last three classes.
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